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(
6
7

4
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−·
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5
4

4
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7
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·
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5
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5
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+
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13314
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·
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5
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5
11

+
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9315
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·
·

+
9315
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·

·
 = 
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 =
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10691
 .

2      A  + 5 
, .

= 3(  + 4) – (4 - ) ·  + 3(  + 1) + 4 .

= -(  - 2 ) + 3(  + ) + 10+ (  - 3)  + 2006.

 + 5 :  + (  + 5) = 0,o  +  = -5 
:  ·  = 1. 

 + 
 · 

:

  = 3(  + 4) - (4 - )  + 3(  + 1) + 4  = 3  + 12 - 4  +  + 3  + 3 + 4  =
=3  + 3  + 15 +  = 3(  +  + 5) +  = 3 · 0 + 1 = 1.

 =  -(  - 2 ) + 3(  + ) + 10 + (  - 3)  + 2006 = 
= -  + 2  + 3  + 3  +10 +  - 3  + 2006 = 2  + 2  + 10 +  + 2006 = 
= 2(  +  + 5) +  + 2006 = 2 · 0 + 1 + 2006 = 2007.



 1

19

 3     ,  40 m ,
 28m 

.

= 3(  + 2 ) – 2(  + 10)  - 3  + 20(  + 100) 

 = (4  - 1)  + 2(  +  -15) +  + 2003 

,  40m2  ·  = 40 
 28 :

 2  + 2  = 28,  +  = 14. 
 + 

= 3(  + 2 ) - 2(  + 10)  - 3  + 20(  + 100) = 3  + 6  - 2  - 20  -3  + 
20  + 2000

 3  + 3  - 2  + 2000 = 3(  + ) – 2  + 2000 = 3 · 14 - 2 · 40 + 2000 =
 = 42 - 80 + 2000 = 1962. 

 = (4  - 1)  + 2(  +  -15) +  + 2003 = 4  -  + 2  + 2  - 30 +  + 2003 =
 = 4  + 2(  + ) –30 + 2003 = 4 · 40 + 28 - 30 + 2003 = 160 + 28 - 30 + 2003 
 = 2161. 

 4 :
 = 3-|-2+5|+3|-4-2| -7,  =  + 3(4 - 2 ) – 4 

) ) .

.

 = 3-|-2+5|+3|-4-2|-7 = 3-|+3|+3|-6|-7 = 3 - 3 + 3 · 6 - 7 = 18 - 7 = 11.

 =  + 3(4 - 2 )-4 =  + 12 - 6  - 4 = 8 - 5 .

) :  +  = 0  11 + (8 - 5 ) = 0 
11 + 8 - 5  = 0  - 5  = -19  =  

5
19

.

) : A · B = 1  11 · (8 - 5 ) = 1 
 88 - 55  = 1  -55  = 1 - 88 = +  

55
87 .
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 5  +  = 3  +  = + 4, .

= 5 - (  - ) – (-  + ) + 2004, = - (-3 - ) + 2(  + ) + 2  + 

= 5- (  - ) – (-  + ) + 2004 = 5 -  +  +  -  + 2004 = 
- (  + ) +  +  + 5 + 2004 = -3 + 4 + 5 + 2004 = 2009.

  = -(-3 - )+2(  + )+2  +  = 3+ +2  + 2  + 2  +  = 2 +2  + 2  + 2  + 3 =
2(  + ) + 2(  + ) + 3 = 2 · 3 + 2 · 4 + 3 = 6 + 8 + 3 = 17.

6     N  x Α=
2

3
+Χ

.

 :
     x + 2 = 1    x + 2= -1   x + 2 = 3   x + 2 = -3 

 x = -1 ,   x = -3 ,   x = 1 
  x = -5 .

7 ) N :

)
 = (60 + 57 + 54 +…+ 3)  -(59 + 56 + 53 +…+ 2)

,
.

= (60 + 57 + 54 +…+ 3) - (59 + 56 + 53 +… + 2) = 
(60 - 59) + (57 - 56) + (54 - 53) +…+ (3 - 2) = 1 + 1 + 1 +…+ 1 = 20 · 1 = 20.

:
: 1 + 2 + 3 + 4 +…+ 

A=
65...15105
130...302010

++++
++++  A=

65...15105
130...302010

++++
++++  

Α= 
65...15105
30...302010

++++
++++  =

)13...321(5
13.....321(10

++++
++++ =

5
10  = 2 Α= 

65...15105
30...302010

++++
++++  =

)13...321(5
13.....321(10

++++
++++ =

5
10  = 2 
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:

 1+2+3+4+…+ν  = 
2

)1( +νν  (1) π.x.  

 N : ) 1 + 2 + 3 +…+ 40
     ) 1 + 2 + 3 +…+ 100
     ) 2 + 4 + 6 + 8 +…+ 200

)  = 40  (1) :

1+2+3+…+40 =
2

)140(40 +  =      
2

4140 ·  = 20· 21 = 420. 

)  = 100  (1)  : 1 + 2 + 3 +...+ 100 =

= 
2

)1100(100 +·
 = 

2
101100 ·  = 50·101 = 5050. 

)  (1) :
2 + 4 + 6 +…+ 200 = 2(1 + 2 + 3 +…+ 100) = 2 · 5050 = 10100.

.  ( )  ( )
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 2.    0 .

 3. .

 4. .

 5. .

 6.  0,35 .
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 9. .

 10. A      ,  (    0, ≠ 0).

 11. .

β
α  β
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 12. .

 13. .

 14. ,  >  0 
 > 0.

 15.  ·  < 0, , .

 16. A ,
β
α  > 0.

 17. O  -x .

 18. O .

 19.  1  -1 .

 20.  0 .

:

1. , ,  :
) , ) )

) .

2.  = (x - 1821) (x - 2004) (x - 2001) · x  x = 0 
      : 

)  0, ) 2006 ) -2004 

3. ,
 = α

1   β
1   + -  -  + 1

)  0, ) 1, )  + )  -  - ) 1.

4.  x  :

) 1, ) -8 ) 2 ) 0 )  5 

5.  0 :

) , ) , )  0 
)  1.

3
3  

3
3  

αβγ= 3

1
α

 αβγ= 3

1
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 2

1
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3
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2
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+Χ
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6. , :
i)  -  ii) 2 ·  + 3 iii)  · iv)  : 

;

)   (i)  (ii) )  (i)   (iii) )  ( i)  (ii)  (iii) 
)  (i)  (iii)  (iv) )  (ii)  (iii) 

7.  A                  , :

. 0 . . - . 1 

.
.

1 :

, ,
, .

2 ;
 2 ,  2  + 1,  2  + 3,  4  + 1,  4  + 3, (  + 1) .

3 :
) 3 + 4 · 6 - 36 : (-4) + 2 ) -10: (-4 -6) - [-(4 -2) + (1 -3)] 
) (-14) · (-4) · (3 - 3) · (1935 - 678) ) 25:|2-7| + [2 - 4(2 : 4) -3] 

x· 
6
5  = 0 x· 
6
5  = 0 

6
5  
6
5  

6
5
6
5

-4
2
3  8 -0,3 5 16 3,

−
4 π

3
2 0

3
1

Ακέραιος
Ρητός 

Άρρητος 

-4
2
3  8 -0,3 5 16 3,

−
4 π

3
2 0

3
1

Ακέραιος
Ρητός 

Άρρητος 

+3, -2, 
5
3 , 2,

−
23 , π, 3 , 9 , 

3
2+3, -2, 

5
3 , 2,

−
23 , π, 3 , 9 , 

3
2

6
5 -x 
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4  +  = 4,  = -12, :

= 3  + 3 ,  =  + ,  = (  - 2) - (  - 2) - 2 .

5 A , ,  = 3 ,  = 16
           , :

) )

) , .

6  +  +  = 2001  + 2  = 6 :
A =  + 2  + 3 , =  + 3  + 5 .

7 ) :

) :
= (200 + 196 + 192 +…+ 8 + 4) - (198 + 196 + 194 +…+ 6 + 4 + 2)

        ( ,  - 1999) 

8 :

9 ,  +  = 4 :

10 N : ,
x =  - 2(  + 4) + 2  = 4(  +1) + 7  + 2 .

11 x = 850,35  = -150,65 :
 3x  - 3x (  - 1) - [x - (  + 7)] -3

γ =
5
4γ =
5
4

α-β= - 
5

128α-β= - 
5

128
β
α , 

12
5γ

β
α , 

12
5γ

Α = 
250...15105

100...642
++++

++++Α = 
250...15105

100...642
++++

++++

A=
) + 123()]2([)2(

)200733()]2()32([
γβγβαβα
γβαβαγγβ

−−−−−−−+−−
+−+−−+−−−+−−− αA=

) + 123()]2([)2(
)200733()]2()32([

γβγβαβα
γβαβαγγβ

−−−−−−−+−−
+−+−−+−−−+−−− α

A= 
)52(2)13(4)2(2

)]2(5[35)2(2)(3100
βαββα
βαβαβ

−−−−−−−
+−−+−−−−− αA= 

)52(2)13(4)2(2
)]2(5[35)2(2)(3100

βαββα
βαβαβ

−−−−−−−
+−−+−−−−− α


